Total Marks: 60 Class:9th Time:1.45min

Subject:Math(Subjective)
2-Attempt any six Short Questions

' What is Row matrix? Sy ;JJGU;LB
28olve 1 27 (T2 17 1 1 1 2] (T2 1] [1 1 b
o 1] |1 o1 1 [o 1]{[1 0}{1 ID
3 | : 5 1
Express 7 ; in standard form a + bi -U:/Q'Lbu’:a + bi&dx?«'; 1+2;
4 s o 2 - 2 P ¢S
Simplify in the form @ * b7, 1+ Y -é/“fdftf/d/aJr bi
’ Express the following numbers in ordinary notation. -ﬁg ufﬁ.’ }(W;qu By
5.06 x 1010 5.06 x 1010
® Find the value of x fromrthe following _Q.’)?:L’”.:QJXLSCKU?DVJ..},WP
statements. 10864 o e 7 10364 R = ?
7 ] A T 1 #
If X~ =4, then find .‘-:3—% -Q/?P.:{JXL?M X*;=4/'/l
s Perform the indicated operation and simplifys, 5
=1 x+5 x'=1 x+5
x 4 2x41 1=x £ #2341 1%
° Factorize X2 + 14x +48 X2 +14x +48 _J/’/df“

3-Attempt any six short Questions

" Find the L.C.M. of the following expressions. , -Q:/'/()L’”ﬁ...?bbb)'bfu}fd:)'gﬂ

102xyzz , 85x2yz and 187’)r;yz;2 102xy "z, 85x2yz and 187)(3122
2 Solve each equation and check for J’C‘fgd/d’ildw L"Qf/(nff-"a eI
extraneous solution, ifamy.\/m — \/_jr——i =) V2t+6-2t-5=0 _\_)_'/rf/
*3x-2<2x+1<4x+17 Solve 3x-2<2x+1<4x+17 LSS
* Find the values of m and c for line d/y =mx+c J 2x+ Jy-1=0 sl

2x + 3y - 1 =0 by expressing it in the -J/'?JL”U.‘:‘:;JCJﬂmLJ//:wquF

form of y =mx + c.

> What is the second name of Cartesian plane? - l;-'/rt[/u K551 g‘g{
® Find the mid points of the line segment r:j"' s &Q—wﬁ:ﬁ Cg e i Ui b
of joining the points A(6 , 6), B(4 , - 2). B(4, - 2), A6, 6).@’/
" Find the mid-point of A(2, - 6) and £ Jpst'B(3,-6) A2, - 6) 15 b3
B3, -6). _é I”JM
® When right angled triangles are congruent? ?u_g'dﬂJ“L?”_/f u?b;,ﬂj b0
? How many congruent triangles are formed ff-:v U U"‘(ﬁ:(u’ I 0126 Wl S50
by each diagonal of parallelogram? Draw iLL-,,u”: et
a diagram. " :
4-Attempt any six short Questions
1 i ; /,’ S U( 550 L o i
Define bisector of line segment. A POt L3 b
? 2¢m , 4em , 7em cannot be the sides of a ﬂug@&@&bléwkm ,4cm , Tcn
triangle. Why? ?u;;,(_. ¥
® What is the importance of knowledge of ?4.%_-421 L.ffy l(...,wL':.:A_j

ratios and proportions.



‘Ina triangle in what ratio does the

bisector of an angle intersect the opposite side?

> Verify that the given sides are of right
angled triangle.
a=9%9%m,b=12cm,c=15cm.

® In the given figures, find the value of x.

" Define Rectangular region.

® The three medians of a triangle pass

? Construct the AABC
mAB=4.8cm, mBC=3.7cm, mZ B = 30"
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a=9m,b=12cm,c¢=15cm.
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through one point. What is called that point?
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G LAABC °

mABﬁ4 8em, mB_C—3 Tem, mZLB = 30°

Attempt any three questions.Question no. 5 is compulsory.

1@ 1 2 J =]
A = e =
If L 6] ind B {2 2}

then show that BB '=I=B'B

Expresq each complex numbepan the standard | f/ rLbu“'J{’Ja+b1)/;l,wlu”' J:;u,w

form a+bi,where a 'md b aresseal numbers.
2461 +3i"-61"+4i”

@ Use log tables to fihd'the value of
0.8176 x 13.64

b . . N . -
® perform the indicated operation and simplify.
4x-12  18-2x2
=9 x4+ 6x49
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(b)

2i+61+3i"-61"+4i"

-/ {’PUJ’JJ).?JMLJAJJEMK{ £y @

0.8176 x 13.64

_q)//’?é,ﬁl./dfnd/féé_.: (b}
4x-12 18-2x
-9  x +6x+9

Factorlze (SX x) +4(5x x)+4 X+ 0 (5x- ) +4(5x )+4,x¢0 ~L):/L5f.“ @ 3

) a+l1
If A=—— then find A+l
a-1 A

2 Solve the following equation.
2x 2 5
xX+5 3

XY F

3 4x+10°'" "

N|U1

® Construct the triangle ABC in which
mAB=4.8cm, mBC=3.7cm, mZ B = 60°

> Prove that any point the right bisector of a

line segment is equidistant from its end
points.

" Prove that triangles on equal bases and
equal altitudes are equal in area.
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